Xit
| | ' : | | SET-2
Series SSO/2] ==i.  57/2/2
| . : Code No. '
. N |
Rall No , e Tewma
Candidates must write the Code on the
title page of the answer-book.
. Wm‘awﬁ%s@rw—wﬁg&a@ 1181

gwﬁar%ﬁmaﬁeﬁtﬁqmeﬁs TR B IW-JIH F T8 T
|

P 9 A o6 59 I H 26 T § |

FUAT U9 T IR 1@ I16 FA A Uz, U991 HHIE o o |

T WA B UG S T 15 Bre 1 o R R | v R w@is
# 10.15 5 o6 SO | 10.15 S & 10.30 T GF B Haw ST Y a9
3T 5@ rafer % GRA I IT-IFRHT W A I T R |

- Please check that this question paper contains 11 printed pages.’
Code number given on the right hand side of the question paper should be ~

written on the title page of the answer-book by the candidate.

- Please check that this question paper contains 26 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The questlon
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a. m., the

~ students will read the question paper only and will not Wr1te any answer on

the answer-book during this period.
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General Instructions :

( i) There are a total of 26 questions and five sections in the question paper.
All questions are compulsory. ’

(ii)  Section A contains questions number 1 to 5, very short-answer type
questions of 1 mark each.

Giii) Section B contains questions number 6 to 10, short-answer type I
questions of 2 marks each.

(iv) Section C contains questions number 11 to 22, short-answer type II
questions of 3 marks each.

(v)  Section D contains question number 23, value based question of 4 marks.
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Ji)  Section E contains questions number 24 to 26, long-answer type questions

of 5 marks each.

(vii) There is no overall choice in the question paper, however, an internal

' choice is provided in one question of 2 marks, one question of 8 marks and

all the three questions of 5 marks. In these questions, an examinee is to
attempt any one of the two given alternatives. ‘ ‘

~
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SECTION A

1. “ogs fie o Rt s A & @ weRdn @ l”waﬁm’ﬁﬁ |
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“Man can be a primary as well as a secondary consumer.” Justify this

statement.
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Write the hypothetical proposals put forth by Oparin and Haldane.

3. RNA Sifemtst I1 51 & &/ gl 8 2 1

Write the function of RNA polymerase IIL.
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How does a degenerate code differ from an unambiguous one ?
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’ Meiosis is an essential event in the sexual life cycle of any organism. Give

-two reasons.
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) - SECTION B
6 égﬁ»'muémwam%?wﬁm-mwﬁmmmﬁm%? 2
What is joint forest management ? How can 1t help in conservation of
forests ?
7. H%maﬂwa%aw%ﬁawml | 4 2
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Diﬁ’eréntiate between outbreeding and outcrossing.

OR

Bottled fruit juices are clearer as compared to those made at home.
- Explain. ‘
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When you go for a trek/trip to any high altitude places, you are adv1sed to
take it easy and rest for the first two days. Comment, g1v1ng reasons.
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Give an example of a gene responsible for multiple phenotypic
expressions. What are such genes called ? State the cause that is

responsible for;such an effect.

10. m@@m%?mﬁ%ma@mmmmw%? 2

- What is apomixis ? How is the phenomenon useful to the farmer ?
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SECTION C
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‘What are analogous structures ? How are they different from homologous

structures ? Provide one example for each.
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(a)  Name the kind of diseases/disorders that are likely to occur in
humans if '

(1) mutation in the géne that codes for an enzyme phenyl
alanine hydrolase occurs,

(ii)  thereis an extra copy of chromosome 21,

(iii)  the karyotype is XXY.

(b)  Mention any one symptom of the diseases/disorders named above.

13.

14.

15.

16.
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How was a heavy isotope of nitrogen used to provide experimental

evidence to semi-conservative mode of DNA-replication ? -

me@m%mmamﬁmmaaﬁwﬁmw%?

What is amniocentesis ? Justify the statutory ban on it.
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Draw a labelled diagram of the sectional view of the seminiferous tubule

of a human.
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Many copies of a specific gene of interest are required to study the

detailed sequencing of bases in it. Name and explain the process that can

help in developing large number of copies of this gene of interest.
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17.

18.

19.

20.
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One of the major contributions * of biotechnology is to develop
pest-resistant varieties of cotton plants. Explain how it has been made

possible.
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Why is earthworm considered a farmer’s friend ? Explain humification

and mineralisation occurring in a decomposition cycle.
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Differentiate between parasitism and competition, giving one example of »

each. State the common characteristic they share.
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Prepare a flow chart in formation of recomblnant DNA by the action of
restriction endonuclease enzyme EcoRI.

‘OR
Name and explain the technique used for separating DNA fragments and

making them available for biotechnology experiments.
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23. .
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Compare narrowly utilitarian. and broadly utlhtarlan approaches to
conserve b10d1vers1ty, with the help of suitable examples. '
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How can seWage be used to generate biogas ? Explain.
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24.
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You have attended a birthday party hosted by one of your classmates.

You found some guests at the party sitting in a corner making a lot of
noise and consuming ‘something’. After a while one of the boys from the

group started screaming, behaving abnormally and sweating profusely.

- On enquiry you found that the group members were taking drugs.

(a) Wbuld\\you inform your parents/school authorities ? Yes/No. Give
reasons in support of your answer. |

(b)  Prepare a note to be circulated amongst the schoolmates about the
sources and dangers of any two drugs.

(c) © Write any two ways that you will suggest to your SChool principel
so as to promote awareness amongst the youth against the use of
these drugs ‘
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“Un'der' polio prevention programme, infants in India were given polio
- vaccines on a large scale at regular intervals to eradicate polio from the

country.

(a)  What is a vaccine ? Explain how does it impart immunity to the

child against the disease.

(b) With the help of an example each, differentiate between active and
| paesive iImmunity.
OR

What are blofertﬂlzers ? Descrlbe their role in agnculture Why are they
' preferred to chem1cal fertilizers ?
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(a)  Explain the events after pollination leadmg to the formation of a
seed in angiosperms.

(b)  Mention the ploidy levels of the cells of dlfferent parts of an
albuminous seed. :

OR

Explain the process of fertilisation and implantation in humans.
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(a) During a cross involving true breeding red flowered and true
breeding white flowered snapdragon plants, the F, progeny did not
show any of the parental traits, while they reappeared 1n sz
progenies. Explain the mechanism usmg Punnett Square

(b)  Explain polygenic inheritance with the help of an example.

| | OR

How did Alfred Hershey and Martha Chase eonclusively establish that
DNA is the genetic material ? Explain. '
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